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KS3 Maths 3.3 Collins Connect

5 Applications of graphs: Progress and review

b Draw a step graph to show the charges for journeys up to 10 miles.

his table shows the costs of sending a large letter by first and second class post.

Mass of letter (g) First-class post (£) Second-class post (£)

0—100 0.90 0.69
101 — 250 1.20 1.10
251 — 500 1.60 1.40
501 — 750 2.30 1.90

Draw step graphs to show cost against mass for:

a first-class post b second-class post.

: The time graph shows the height, h, of a rocket, ¢ seconds after being launched.
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5 Applications of graphs: Progress and review

c Use the graph to estimate the time at which the rocket reaches a height of 200 metres.

coach departs from a coach station at 10:00 am. It travels at a constant speed of 30
km/h for 13 hours.

It stops for 30 minutes at the next destination and then travels at a constant speed of 40
km/h for 2 hours until it reaches the next destination.

It stops for 30 minutes at the next destination and then travels at a constant speed of 35
km/h for 2 hours until it reaches its final destination.

a Draw a distance—time graph to show the coach’s journey.

b How far has the coach travelled altogether?

he population growth of a town is given by the equation:

n =10 000 x 1.5
where n is the number of people in the town and ¢ is the time, in years.

a Copy and complete the table to show the population growth after 4 years.
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5 Applications of graphs: Progress and review

he population growth of a town is given by the equation:

n =10 000 x 1.5
where n is the number of people in the town and ¢ is the time, in years.
a Copy and complete the table to show the population growth after 4 years.
Give your answers to the nearest thousand.
Number of years, ¢ 0 1 2 3 4
Population, n 10 000

b Draw an exponential growth graph to show this data.

c Use your graph to estimate the population of the town after 2% years. Give your
answer correct to the nearest thousand.

d Estimate how long it takes for the population to double.

imus invests £500 at 5% per annum compound interest for a five-year period. The
amount obtained from the investment, £4, after n years, is given by the equation:
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